M9 - 10.0 - Parallel Lines Notes

Z's on a point add to 360°
Supplementary Complementary

15097300 209 Angles sum to 90°.
700 21+ 22 =90°

Angles on a line sum to 180°. 1609

21+ 22 =180°

Corresponding

Opposite Angles are Equal. Alternate Interior
X Angles Equal. Z Angles Equal. C / F
w Tick Equal| |Double Tick Rotate the Page 500
@ Angles Equal Angles .»_
Altint. 2's = CORR 2's=
500 21=22
OPP 2's = ;E
+ Parallel lines: Alternate: Across a Transversal.
—> Lines never touch Interior: Inside Parallel Lines. —>—
(o]
Transversal: a line through Parallel Lines. 130° CORR 2's =
—_— Tick/Double Arrow g : i
: Extend the (Parallel/Transversal) Lines 21=22
—_— Parallel Lines

Co-Interior: Same side of a Transversa%SOo

_ a? + b% = ¢? Similar  Circles
Triangles o Congruent  AAA
a a a 0 SSS, SAS, ASA, AAS, HL
60° 603 90°
A180°N  fx | b

Scalene Isosceles Equilateral Right Angle A=mr? C=2mr

Solve all angles 0
110 70 110 /
35 A';// 135/45

/ v 110K
11070\ 10

48
110N0 K753 457135 145\{,0
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M9 - 10.0 - Circles Notes

300 @
[¢]

l2=1¢
Inscribed Angles from Same/Equal Arc are Equal.

WY W\

Cer=2
Central Angles are
Twice Inscribed Angles

Equal Things Other Equal Things from Same/Equal Arc.
1: Perpendicular 90° i
90
|
Draw a Radius ° "
- Tangent: Line
o .
907 90 meets Circe Radius 1 to Chord
Tangent Edge

1 Bisects Chord &
Radius 1 to Tangent

xx

goes through Centre

(Bisects: Cuts in Half)

Shade the Arc!| Use Your Hands!

Cs=CsL
Central Angles from
Equal Arc are Equal.

90°
9

Inscribed 2 in a
Semi-Circle = 90°

Exterior
/ Point (Ext Pt)
Tangents to Exterior
Points are Equal.

£ Between
‘ Tangent and
Interior Angles Chord =
_ o inaCyclic Inscribed Angle
If: OF = OF £1+22 =180 Quadrilateral Opposite of
Then: AB = CD 23+ 24 =180° syum to 360°. Chord.
Int : Interior
Ext : Exterior , #A's x 180° YIntz= (n—2)x180°
n : # of Sides intz's = ———— OR
Y : Sum n Yintz= (5—2)x180°

108° J\a 1087

Int 2's /

ﬂ720 108° | 108°/

Draw Triangles to Vertices

|
Pentagon: 5 Sides )
(Without Overlap)

Ext £

Extz's ) = 360°
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Y Intz = 3x180°

Yint 2's _ (n—2)x180°
n

Int£ =

n

540°
Intz = —

5
Int £ = 108°



